
Determine if the triangles are similar, and if so write a similarity statement.



Homework

1. Not similar 2. SSS~ ; ⊿𝐹𝐺𝐻 3. SAS~ ; ⊿𝑉𝐿𝑀

4. AA~ ; ⊿𝑇𝑈𝑉 5. Not similar 6. Not similar

7. SSS~ ; ⊿𝑄𝑅𝑆 8. Not similar 9. AA~ ; ⊿𝐻𝑇𝑆

10. SAS~ ; ⊿𝑈𝑉𝑊 11. SSS~ ; ⊿𝐹𝑅𝑆 12. SAS~ ; ⊿𝐶𝐷𝐸

13) 22 15) 9 16) 11



Notes

1) Given:  ∠𝐽 ≅ ∠𝑅

Prove:   
𝐽𝑈

𝑅𝐸
=

𝑀𝑈

𝑀𝐸

2

1
M

J U

E R

Statement

1. < 𝐽 ≅< 𝑅

2. < 1 ≅< 2

3. ∆𝐽𝑀𝑈~∆𝑅𝑀𝐸

4.
𝐽𝑈

𝑅𝐸
=

𝑀𝑈

𝑀𝐸

Justification

1. Given

2. Vert. < thm

3. AA ~ post.

4. Def ~ ∆s
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Notes

2) Given:  𝑁𝐷 ∥ 𝐴𝑅

Prove:  ∆𝑁𝐷𝑍~∆𝐴𝑅𝑍

Statement

1. ND ∥ AR

2. < 𝑁 ≅< 𝐴
< 𝐷 ≅< 𝑅

3. ∆𝑁𝐷𝑍~∆𝐴𝑅𝑍

Justification

1. Given

2. Corresp < thm

3. AA ~ post.
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Notes

3) Given:  
𝐽𝑂

𝑁𝑂
=

𝐾𝑂

𝑀𝑂

Prove:  ∠𝐽 ≅ ∠𝑁

O

J

K

M

N

Statement

1.
𝐽𝑂

𝑁𝑂
=

𝐾𝑂

𝑀𝑂

2. < 𝐽𝑂𝐾 ≅
< 𝑀𝑂𝑁

3. ∆𝐽𝑂𝐾~∆𝑁𝑂𝑀

4. < 𝐽 ≅< 𝑁

Justification

1. Given

2. Vert. < thm

3. SAS ~ post.

4. Def ~ ∆s
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Notes

4) Given:  
𝑇𝐸

𝑇𝐴
=

𝑇𝑆

𝑇𝑀

Prove:  
𝑇𝐸

𝑇𝐴
=

𝑆𝐸

𝑀𝐴

T
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S

Statement

1.
𝑇𝐸

𝑇𝐴
=

𝑇𝑆

𝑇𝑀

2. < 𝑇 ≅< 𝑇

3. ∆𝑆𝑇𝐸~∆𝑀𝑇𝐴

4.
𝑇𝐸

𝑇𝐴
=

𝑆𝐸

𝑀𝐴

Justification

1. Given

2. Reflexive 
prop ≅

3. SAS ~ post.

4. Def ~ ∆s
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Notes

5) Given:  𝐴𝐵 ⊥ 𝐴𝐶
𝑁𝑈 ⊥ 𝑈𝐶

Prove:   
𝐴𝐶

𝑈𝐶
=

𝐶𝐵

𝐶𝑁

C

B

A U

N

Statement

1. 𝐴𝐵 ⊥ 𝐴𝐶
𝑁𝑈 ⊥ 𝑈𝐶

2. < 𝐴 and < 𝑈
are right <s

3. < 𝐴 ≅ < 𝑈

4. < 𝐵𝐶𝐴~
< 𝑈𝐶𝑁

5. ∆𝐵𝐶𝐴 ≅
∆𝑈𝐶𝑁

Justification

1. Given

2. Def ⊥ seg.

3. Right < thm

4. Vert < thm

5. AA ~ post

Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant




Notes
6) Given:  𝐸𝐷 ⊥ 𝐴𝐶

∠B   is a right angle

Prove:   ∆𝐴𝐷𝐸 ~ ∆𝐴𝐵𝐶

A

B C

D

E

Statement

1. 𝐸𝐷 ⊥ 𝐴𝐶
< 𝐵 is a right <

2. < EDA is a 
right <

3. < EDA ≅< B

4. < 𝐴 ≅< 𝐴

5. ∆𝐴𝐷𝐸~∆𝐴𝐵𝐶

Justification

1. Given

2. Def of ⊥
segments

3. Right <≅
thm

4. Reflexive 
prop ≅

5. AA ~ post
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Your homework is 7-5.


